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Q1. Add the following:

a) 98+0= g 5

Q2. Find the successor of the following

a) 159= LSQ

Q3. Addition of 2-digit numbers (without carry over)
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Q4. Addition of 2-digit numbers (w:th regroupmg)‘“\/
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Qs. Addmon of 3 dlglt with 3-digit numbers (wnth regroupmg)
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Q6. . Addition of 2 digit with 3-digit numbers (with regrouping)
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Q7. Addition with 3-digit numbers (with regrouping)
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Q8. Kabir gets 43 marks in the first test. He gets 35 marks in the second test. How many marks

does he getin all? et L{j)
kabior @ets 78 1hodd. :E%S

Q9. If one number is 390 and the other number is 60. What is the sum of those two numbers? 1
1
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